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1) yet parts

vintbit immi = getbits (in, 31y1) ;
vint32-+ imm10

. 5 = get-bits (in , 25,6);
vints-+ imm4 -1 = yet-bits (iv , 0 ,4) ;
vict32-+ immll = yet-bits (iv . T , 1) ;



2) combine parts

vin +64-trimm;

vimm = (imm1(2) /(imm-ll()
1 Cimms < 5)(Cimmu-1 < 2)&X

3) sign.extend

int64-t imm = sign-extend (vimm , 12) ;

If you take
the branch

pa = PC + offset (imm)]
Else

pc = pc + Y 3
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Mem instructions - Loads & Store
Type

In to , offset (10) - Iw to
, 8 (90)

E = * (00 + offset)

to = * ((vin+32+*) (no + offset))

TurbetaddressXimm
TA = no + offset

rd = * ((vint32- + *) TA) ;

Copor (nd 1000001
Ox2 dest opcode

base
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16 vin+8-t

7.I w vint32f X

I d vin+67t *



Stres+offset= to

↓imm ↑
TA = no + offset


